Hon Alg2  Bellwork  Thursday, October 5, 2016

1. Write a system of FOUR inequalities to model this situation. A tailor is going to make and sell some
pants and shirts at next weeks city-wide sale. Material for shirts cost $8 and material for pants cost $12

to make. It takes him 1% hours to make a shirt and 2 hours to make a pair of pants. The tailor has $144
to spend on material for the garments he is going to make. The tailor has only 24 hours to spend on
making these garments.

2. A design is made up of squares and equilateral triangles. There is a total of 85 sides. The number of
squares is nine less than twice the number of triangles. Write and solve a system of equations to find the

number of squares and triangles

in the design.
3. State the number of solutions for this system 5¢+20d = -15
of equations without solving the system. 8d+2e =14
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